
QUICK GUIDE

MODULAR SAWHORSE W/NOMAD BASE (TSB366-NF1)

TSB366-NF1 includes the 36" x 6" Sawhorse Top Plate & Beam, two Adapter Plates, and one Nomad Welding 
Table (TS3020). While the Nomad base is compatible with both the standard Nomad tabletop and the Sawhorse 
Top Plate, this manual only covers installation of the Sawhorse Top Plate. For instructions related to the standard 
Nomad tabletop, please refer to the official TS3020 Nomad Table Manual included separately.

IMPORTANT NOTES:

1. Before starting, make sure the two benchtop feet (approx. 3" x 6") on the underside of the sawhorse have
been removed.

2. A separate manual is included for assembling the Nomad Table Base with the standard Nomad top.
Follow that guide first to assemble the base structure only.

3. A hex key set is required and not included. Please have your own tools ready.

# Description Qty.

1 Benchtop 1

2 Mounting Adapter 2

3 NOMAD Table Base 1

4 Steel Washer, M10 2

5 Lock Washer, M10 2

6 Socket Head Shoulder Screw, M8 x 40 mm 2

7 Hex Bolt, M8 x 20 mm 4

1

2

3

4

5

6

7



QUICK GUIDE

MODULAR SAWHORSE W/NOMAD BASE (TSB366-NF1)

QUICK GUIDE

MODULAR SAWHORSE W/NOMAD BASE (TSB366-NF1)

MAINTENANCE

To ensure long-term performance and safety of your Sawhorse 
Benchtop and Nomad Table Base setup: 
Inspect all fasteners regularly, especially after transport, 
repositioning, or heavy-duty use. Retighten as needed. 
Keep mounting surfaces clean and free of debris to maintain a 
stable and flush connection between components. Lubricate 
moving joints or pivot points on the Nomad Table Base as needed 
using a light machine oil. If used in outdoor or humid environments, 
check for signs of corrosion on hardware and replace any rusted 
components promptly. Do not exceed the recommended load 
capacity of either the benchtop or the Nomad base. 

SAFETY
Ensure all bolts, washers, and mounting plates are 
securely fastened before each use. Never use the table 
if it feels unstable, wobbles, or shows signs of loose 
components. Do not sit, stand, or climb on the benchtop. 
Only use the work surface on a level and stable floor to 
prevent tipping or imbalance. Use proper PPE (personal 
protective equipment) such as gloves and eye protection 
when working with or around the bench. Keep hands 
and tools clear of adjustment mechanisms while 
repositioning or tightening bolts. Follow all additional 
safety recommendations outlined in the Nomad Table 
Base user manual.

LIMITED WARRANTY

Each STRONG HAND TOOL product is warranted to be free 
from defects in material and workmanship. Return to place of 
purchase for a replacement if warranty applies.

1. Attach Adapter Plates to Nomad Base
Once the Nomad Table Base (#3) is fully assembled (as
per the included Nomad base instructions), locate the
angle adjustment plates on top. Align the TSB366-NAP
Adapter Plates (#2) with the mounting holes on the
adjustment plates.
Reuse the four M8 x 20mm Hex Bolts (#7) from the Nomad
kit to secure the adapter plates. Tighten securely.

STEP-BY-STEP ASSEMBLY

2. Attach Benchtop to Adapter Plates
With the adapter plates attached, rest the TSB366
Sawhorse Benchtop (#1) over the Nomad base (#2 & #3).
Insert the Socket Shoulder Head Screws and washers
(#4, #5, #6),  to fasten the Benchtop through the predrilled
mounting slots. Tighten all screws evenly and securely.

2

3

7

4

5

6

7


